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WIER BISFERBEL EARBEBEMTERESRIAES

2 # 1B - R B B 8 B & @ Wz
E3e LT 2,789,000 + 3,067,900 + 878, 535 6, 735, 435
BEEAGE 2,789, 000
HRE 2,789,000 x 10 % 3,067, 900
Bt EEH (2,789,000 + 3,067,900 ) x 15 4% 878, 535
E3 LT 6, 735, 435 6, 735, 435
E3 LT 6, 735, 435 6, 735, 435
HERSELE 6,735,435 x 10.00 % 673, 543
RHEAH 6,735,435 + 673, 543 7,408,978




HENRE ST RS BB BB SNSRI

% R R - RARSTiE BfL % 8 B ' # W =
BREES 2,789, 000
BREES 2,789, 000
BREES 2,789, 000
EEAGE 2,789, 000
HIEES 97, 800
1 EHEEEAH 1.00 97, 800 97, 800
=
BB 393, 000
2 BREHE 1.00 393, 000 393, 000
=
BEBR R AT 1,822,900
3 LA 7 bogeE ) 1.00 538, 600 538, 600
=
4 L4777 Q) 1.00 334, 000 334, 000
=
5 WEZFDEET (1) 1.00 330, 800 330, 800
=
6 HEZFDKRE(2) 1.00 330, 800 330, 800
=
1T HEER 1.00 288, 700 288, 700
=




HENRE ST RS BB BB SNSRI

& - mE 322, 500

8 AR 1.00 107, 500 107, 500
=

9 RS 1.00 107, 500 107, 500
=

10 HRE|E 1.00 107, 500 107, 500
=

Y 152, 800

11 EBTRBEEER 1.00 152, 800 152, 800
=
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51
275 FtEZER 1K%Y
% [ R - FKTE Bfp =3 B i ' # " =
EXE2THE )]
A 1.00 62, 200. 00 62, 200
AR (C)
A 1.00 35, 600. 00 35, 600
& &t YE%HERN - 1.00=X 97, 800. 00 97, 800
552
& BUKIEE 1K%Y
% [ R - FKTE Bfp =3 B i ' # " =
EXE2THE )]
A 2.00 62, 200. 00 124, 400
AR (B)
A 2.00 45, 300. 00 90, 600
AR (C)
A 5.00 35, 600. 00 178, 000
& &t YE%8EN - 1.00=X 393, 000. 00 393, 000
&#5:3
& LATY LOBRE 1) 1K%Y
[ R - FRTE Bfp =3 B i ' # " =
FEREM (5D
A 2.00 62, 200. 00 124, 400
AR (B)
A 6.00 45, 300. 00 271, 800
AR (C)
A 4.00 35, 600. 00 142, 400
& &t YE%8EN - 1.00=X 538, 600. 00 538, 600
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5 4
& LAT Y FOBRE Q) 1K%Y
[ R - FKTE Bfp O B i ' # " E " =
EXE2THE )]
A 1.00 62, 200. 00 62, 200
AR (B)
A 6.00 45, 300. 00 271, 800
& &t YE%HERN - 1.00=X 334, 000. 00 334, 000
£S5
A REFORE (1) 1K%Y
% [ R - FKTE Bfp O B i ' # wm = " =
EXE2THE )]
A 1.00 62, 200. 00 62, 200
AR (B)
A 2.00 45, 300. 00 90, 600
AR (C)
A 5.00 35, 600. 00 178, 000
& &t YE%8EN - 1.00=X 330, 800. 00 330, 800
£S5 :6
A REFDORE Q) 1K%Y
[ R - FRTE Bfp O B i ' # wm = " =
FEREM (5D
A 1.00 62, 200. 00 62, 200
AR (B)
A 2.00 45, 300. 00 90, 600
AR (C)
A 5.00 35, 600. 00 178, 000
& &t YE%8EN - 1.00=X 330, 800. 00 330, 800
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BgBS:17
£ . REERK 1K%Y
% [ R - FKTE Bfp O B i ' # " E w® %
EXE2THE )]
A 1.00 62, 200. 00 62, 200
AR (B)
A 5.00 45, 300. 00 226, 500
& &t YE%HERN - 1.00=X 288, 700. 00 288, 700
B55:8
&7 BTG =EP)
% [ R - FKTE Bfp O B i ' # wm = w® %
EXE2THE )]
A 1.00 62, 200. 00 62, 200
AR (B)
A 1.00 45, 300. 00 45, 300
& &t YE%8EN - 1.00X 107, 500. 00 107, 500
B#5:9
£ PRESmE =EP)
% [ R - KTk Bfp O B i ' # wm = w® %
FEREM (5D
A 1.00 62, 200. 00 62, 200
AR (B)
A 1.00 45, 300. 00 45, 300
& &t YE%8EN - 1.00=X 107, 500. 00 107, 500
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ES:10
B mEREE 1EHY
b g - BARTiE B ¥ =2 B & # W OE B &
FEHER ERED
A 1.00 62, 200. 00 62, 200
AR (B)
A 1.00 45, 300. 00 45,300
& &t 128N 1,00 107, 500. 00 107, 500
&S 1
2 EBEHEE 1XLY
£ b g - BARTiE B B =2 B & # W OE B &
FEHER ERED
A 1.00 62, 200. 00 62, 200
AR (B)
A 2.00 45, 300. 00 90, 600
& &t 128N 1,00 152, 800. 00 152, 800




